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Return to the Binomial Theorem...

Binomia | Pascal's Triangle in Binomial Expansion Row
X+ v 1 1
(x+ 1x + 1y 2
*x+ ¥F 1x? + 2xy 1y 3
(x + vy 1 + 3y o+ Jwy 1y 4
(x + v 14 Axy BxZy? 4xy 1y 5
Have a look at this neat connection... A C 3
Pascal's Triangle Combinations
1 G
1 1 G C .
1 E 1 z'[u ] z'[1 | '[2 (omél ”Qﬂ.
1 3 3 1 . C C ) D
1 4 6 4 1 L G C G C \ he
1 5 10 10 5 1 G C c L

You can use the binomial theorem to expand any power of a
binomial expression.

(x + y)"= C(x)"(" + Cx)" () + Clx)"*y) + -
+ .G B + GG

(x #6\%
: Cg(x§ (ﬁ* C L(xg (3311‘ 3 Cz(ﬂc(v\}



Untitled.notebook March 10, 2015

13
Given the binomial expansion (2x—y2)

Determine the numerical coefficient of the term that has the variable parts...

(a) X4_)/18
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= ~/l490 X ;!’% 7689y /1
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Polynomials Review

e Factoring Techniques

e Dividing Polynomials

e Remainder Theorem

e Factor Theorem

e Sum and Difference of Cubes

e Solving Polynomial Equations
e Permutations and Combinations
e Binomial Theorem
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